# $\delta$-ideals of $p$-algebras 

Abd El-Mohsen Badawy ${ }^{1} \cdot$ Kamal El-Saady ${ }^{2}$ •Essam Abd El-Baset ${ }^{2}$ (D)

Accepted: 25 September 2023 / Published online: 23 October 2023
© The Author(s) 2023


#### Abstract

In $p$-algebras, the concepts of $\delta$-ideals and principal $\delta$-ideals are presented, and some of their respective properties are discussed. It is observed that the set $I^{\delta}(L)$ of all $\delta$-ideals of a $p$-algebra $L$ is a bounded lattice, and the class $I_{p}^{\delta}(L)$ of all principal $\delta$-ideals forms a bounded sublattice of $I^{\delta}(L)$ and a Boolean algebra on its own. A characterization of a $\delta$-ideal in terms of principal $\delta$-ideals, in $p$-algebras, is given. Also, the concept of comaximality of $\delta$-ideals is discussed in $p$-algebras. After that, a number of properties of the homomorphic image of $\delta$-ideals are considered.


Keywords Pseudo-complemented lattices ( $p$-algebras) $\cdot \delta$-ideals $\cdot$ Principal $\delta$-ideals $\cdot$ Comaximality $\cdot \sqcup$-Comaximality

## 1 Introduction

In distributive lattices and semi-lattices, Birkhoff (1948) and Frink (1962) presented the notion of pseudo-complements. Many authors later, such as Balbes and Horn (1970); Frink (1962) and Grätzer (1971), have characterized pseudocomplements in Stone algebras. In distributive $p$-algebras, Sambasiva Rao (2012) introduced and characterized the notion of $\delta$-ideals which was extended by Badawy (2016a) to the concept of $M S$-algebras.

In this article, we continue studying $\delta$-ideals (principal $\delta$-ideals) in $p$-algebras and present a number of their main important properties. The contents of our work are organized as follows: in Sect. 2, we list some notions and notations that are needed for this topic. In Sect. 3, we introduce the notion of $\delta$-ideals and establish some of their properties. It is proven that the set $I^{\delta}(L)$ of all $\delta$-ideals of a $p$-algebra $L$ forms a bounded lattice. In Sect. 4, we introduce the notion of principal $\delta$-ideals. It is proven that the set $I_{p}^{\delta}(L)$ of all principal

[^0]$\delta$-ideals of a $p$-algebra $L$ forms a bounded sublattice of $I^{\delta}(L)$ and a Boolean algebra on its own. A characterization of a $\delta$ ideal via principal $\delta$-ideals, in $p$-algebras, is given. Section 5 is devoted to the comaximality of $\delta$-ideals in $p$-algebras and some related properties. Finally, in Sect. 6, some properties of the homomorphic images and inverse homomorphic images of $\delta$-ideals are studied.

## 2 Preliminaries

Here are some definitions and important results that we will use for the development of the paper.

Definition 2.1 (Davey and Priestley 2002) Let $L$ be a lattice. Then,
(i) A nonempty subset $J$ of $L$ is called an ideal of $L$ if
(1) $z, y \in J$ implies $z \vee y \in J$,
(2) for $a \in L, z \in J, a \leq z$ imply $a \in J$. Moreover, $J$ is called a proper ideal of $L$ if $J \neq L$. The set of all ideals of $L$ is denoted by $I(L)$. Also, $(z]=\{c \in$ $L: c \leq z\}$ is called the principal ideal generated by $z$.
(ii) Dually, a nonempty subset $G$ of $L$ is called a filter of $L$ if
(1) $z, y \in G$ implies $z \wedge y \in G$,
(2) for $a \in L, z \in G, a \geq z$ imply $a \in G$.

Moreover, $G$ is called a proper filter of $L$ if $G \neq L . F(L)$ denotes to the set of all filters of $L$. Also, $[z)=\{c \in L: c \geq$ $z\}$ is called the principal filter generated by $z$.

For a lattice $L,(I(L) ; \wedge, \vee)$ is the lattice of all ideals of $L$ which is called the ideal lattice of $L$, where $J_{1} \wedge J_{2}=J_{1} \cap J_{2}$ and
$J_{1} \vee J_{2}=\left\{z \in L: z \leq j_{1} \vee j_{2}\right.$ for some $\left.j_{1} \in J_{1}, j_{2} \in J_{2}\right\}$ $\forall J_{1}, J_{2} \in I(L)$.

Dually, $(F(L) ; \wedge, \vee)$ is the filter lattice of $L$ (the lattice of all filters of $L$ ), where $G_{1} \wedge G_{2}=G_{1} \cap G_{2}$ and

$$
\begin{aligned}
G_{1} \vee G_{2}= & \left\{z \in L: z \geq g_{1} \wedge g_{2} \text { for some } g_{1} \in\right. \\
& \left.G_{1}, g_{2} \in G_{2}\right\}, \forall G_{1}, G_{2} \in F(L)
\end{aligned}
$$

Furthermore, $(I(L) ; \wedge, \vee)$ and $(F(L) ; \wedge, \vee)$ are distributive (modular) lattices if and only if $L$ is a distributive (modular) lattice.

An ideal $J_{1}$ of a lattice $L$ is called a prime ideal if $z \wedge y \in J_{1}$ implies $z \in J_{1}$ or $y \in J_{1}$.

Definition 2.2 (Blyth 2005; Grätzer 1971) The element $a^{*}$ is the pseudo-complement of the element $a$ of the lattice $L$ with 0 if
$a \wedge x=0$ iff $x \leq a^{*}$.

A lattice $L$ with 0 is called a pseudo-complemented lattice (or a $p$-algebra) if each element of $L$ has a pseudo-complement. A modular (distributive) $p$-algebra $L$ is a $p$-algebra, whenever $L$ is a modular (distributive) lattice. If $L$ satisfies the Stone identity, $c^{*} \vee c^{* *}=1$ for all $c \in L$, then $L$ is called an $S$-algebra. A Stone algebra $L$ is an $S$-algebra, whenever $L$ is a distributive lattice.

Theorem 2.3 (Blyth 2005; Katriňák and Mederly 1974) Let $L_{1}$ be a p-algebra. For $z_{1}, y_{1} \in L_{1}$. We have
(1) $z_{1} \leq y_{1} \Rightarrow y_{1}^{*} \leq z_{1}^{*} \Rightarrow z_{1}^{* *} \leq y_{1}^{* *}$,
(2) $z_{1}^{*}=z_{1}^{* * *}$,
(3) $z_{1} \wedge\left(z_{1} \wedge y_{1}\right)^{*}=z_{1} \wedge y_{1}^{*}$,
(4) $\left(z_{1} \wedge y_{1}\right)^{* *}=z_{1}^{* *} \wedge y_{1}^{* *}$,
(5) $\left(z_{1} \vee y_{1}\right)^{*}=z_{1}^{*} \wedge y_{1}^{*}$. Also, if $L_{1}$ is an S-algebra, then
(6) $\left(z_{1} \wedge y_{1}\right)^{*}=z_{1}^{*} \vee y_{1}^{*}$,
(7) $\left(z_{1} \vee y_{1}\right)^{* *}=z_{1}^{* *} \vee y_{1}^{* *}$.

A subset $B\left(L_{1}\right)=\left\{c \in L_{1}: c=c^{* *}\right\}$ of a $p$-algebra $L_{1}$ consists of all closed elements of $L_{1}$, and a subset $D\left(L_{1}\right)=$ $\left\{z \in L_{1}: z^{*}=0\right\}$ consists of all dense elements of $L_{1}$.

Lemma 2.4 (Blyth 2005; Haviar 1995) Let $L_{1}$ be a palgebra. Then,
(1) $\left(B\left(L_{1}\right) ; \wedge, \nabla,{ }^{*}, 0,1\right)$ is a Boolean algebra, where $z_{1} \nabla$ $z_{2}=\left(z_{1} \vee z_{2}\right)^{* *}=\left(z_{1}^{*} \wedge z_{2}^{*}\right)^{*}, \forall z_{1}, z_{2} \in B\left(L_{1}\right)$.
(2) $D\left(L_{1}\right)$ is a filter of $L_{1}$.

A minimal prime ideal $J_{1}$ of a distributive $p$-algebra $L$ is a prime ideal $J_{1}$ of $L$ such that for $z \in J_{1}$ there exists $y \notin J_{1}$, $z \wedge y=0$.

Definition 2.5 (Grätzer 1971) Let $L$ and $L_{1}$ be two bounded lattices. A map $h: L \longrightarrow L_{1}$ is said to be a $(0,1)$-lattice homomorphism if it preserves $0,1, \wedge$ and $\vee$.

Definition 2.6 Let $h: L \longrightarrow L_{1}$ be a $(0,1)$-lattice homomorphism from a bounded lattice $L$ into a bounded lattice $L_{1}$. The Kernel of $h$ (briefly Ker $h$ ) and Cokernel of $h$ (briefly Coker $h$ ) are defined by

Ker $h=\{z \in L: h(z)=0\}$, and Coker $h=\{z \in L:$ $h(z)=1\}$, respectively.

Definition 2.7 A (0, 1)-lattice homomorphism $h: B_{1} \longrightarrow$ $B_{2}$, between Boolean algebras $B_{1}=\left(B_{1} ; \vee, \wedge,^{\prime}, 0,1\right)$ and $B_{2}=\left(B_{2} ; \vee, \wedge,{ }^{\prime}, 0,1\right)$ is said to be a Boolean homomorphism if
$h\left(z^{\prime}\right)=h(z)^{\prime}, \forall z \in B_{1}$.

For more information about ideals, filters, intervals and $p$ algebras, we refer the readers to Badawy (2016a, b, 2017, 2018), Badawy and Atallah (2015, 2019), Badawy and Sambasiva Rao (2014), Badawy and Shum (2014), Sambasiva Rao (2012), Sambasiva Rao and Badawy (2014, 2017); Badawy and Helmy (2023); Badawy and Shum (2017).

## $3 \delta$-ideals of $p$-algebras

Definition 3.1 For any filter $G$ of a $p$-algebra $L$, the set $\delta(G)$ is defined as follows:
$\delta(G)=\left\{z \in L: z^{*} \in G\right\}$.
Now, we study the properties of $\delta(G)$.
Lemma 3.2 Let $L$ be a p-algebra. Then for any filter $G$ of $L$, $\delta(G)$ is an ideal of $L$.

Proof Since $0^{*}=1 \in G$, then $0 \in \delta(G)$. Let $a, b \in \delta(G)$. Then, $a^{*}, b^{*} \in G$. Hence, $(a \vee b)^{*}=a^{*} \wedge b^{*} \in G$. Thus, $a \vee b \in \delta(G)$. Now, let $x \in L, x \leq a$ for $a \in \delta(G)$. Then, $a^{*} \in G$. Hence $x^{*} \geq a^{*} \in G$. Thus $x \in \delta(G)$. Then, we conclude that $\delta(G)$ is an ideal of $L$.

Lemma 3.3 For any two filters $F, G$ of a p-algebra $L$, we have
(1) ( $G$ is a proper filter of $L) \Rightarrow G \cap \delta(G)=\varnothing$,
(2) $x \in \delta(G) \Rightarrow x^{* *} \in \delta(G)$,
(3) $x \in G \Rightarrow x^{*} \in \delta(G)$,
(4) $G \subseteq F \Rightarrow \delta(G) \subseteq \delta(F)$,
(5) $\delta(D(L))=\{0\}$,
(6) $G \subseteq D(L) \Rightarrow \delta(G)=\{0\}$,
(7) $G=L \Leftrightarrow \delta(G)=L$.

Proof (1) Assume that $y \in G \cap \delta(G)$. Then, $y \in G$ and $y^{*} \in G$. Thus, $0=y \wedge y^{*} \in G$ and hence $G=L$, which is a contradiction. Therefore, $G \cap \delta(G)=\phi$.
(2) Let $y \in \delta(G)$. Since $y^{* * *}=y^{*} \in G$, then $y^{* *} \in \delta(G)$.
(3) Let $y \in G$. Then, $y^{* *} \in G$. Thus, $y^{*} \in \delta(G)$ by definition of $\delta(G)$.
(4) Let $F \subseteq G$ and $z \in \delta(F)$. Then, $z^{*} \in F \subseteq G$ and hence $z^{*} \in G$. Thus, $z \in \delta(G)$. Therefore, $\delta(F) \subseteq \delta(G)$.
(5) $\delta(D(L))=\left\{z \in L: z^{*} \in D(L)\right\}=\left\{z \in L: z^{* *}=\right.$ $0\}=\left\{z \in L: z^{*}=1\right\}=\{0\}$.
(6) Let $G \subseteq D(L)$. By (4) and (5), we get $\delta(G) \subseteq$ $\delta(D(L))=\{0\}$. Thus, $\delta(G)=\{0\}$.
(7) Let $L=G$. Then,

$$
L=G \Leftrightarrow 0^{* *}=0 \in G \Leftrightarrow 1=0^{*} \in \delta(G) \Leftrightarrow \delta(G)=L
$$

Definition 3.4 Assume that $L$ is a $p$-algebra. An ideal $J$ of $L$ is said to be a $\delta$-ideal if $J=\delta(G)$ for some filter $G$ of $L$.

Lemma 3.5 In a p-algebra, every prime ideal without a dense element is a $\delta$-ideal.

Proof Let $J$ be a prime ideal without a dense element. Then, $(L-J)$ is a prime filter. Let $z \in J$. Clearly, $z \wedge z^{*}=0 \in J$, and $z \vee z^{*}$ is a dense element. Hence, $z \vee z^{*} \notin J$. Since $J$ is an ideal of $L$ and $z \in J$, we get $z^{*} \notin J$ and hence $z^{*} \in L-J$. Thus, $z \in \delta(L-J)$. Therefore, $J \subseteq \delta(L-J)$.

Conversely, let $z \in \delta(L-J)$. Then, $z^{*} \in L-J$. Thus, $z^{*} \notin J$. Since $0=z \wedge z^{*} \in J$, and $J$ is a prime ideal, we get $z \in J$. Hence, $\delta(L-J) \subseteq J$. Thus, $J=\delta(L-J)$. Therefore, $J$ is a $\delta$-ideal.

Lemma 3.6 A proper $\delta$-ideal J of a p-algebra L contains no dense element.

Proof Assume that $J$ is a proper $\delta$-ideal of $L$ and $z \in J$. Suppose that $z \in D(L)$, since $z \in J=\delta\left(G_{1}\right)$ for some filter $G_{1}$ of $L$. Hence, $0=z^{*} \in G_{1}$, which is a contradiction. Thus, $J \cap D(L)=\phi$.

Let $I^{\delta}(L)$ denote the set of all $\delta$-ideals of $L$. The following example shows that $I^{\delta}(L)$ is not a sublattice of $I(L)$.

Example 3.7 Consider a p-algebra $L=B_{4} \oplus M_{3}$ in Fig. 1, where $B_{4}=\{0<x, y<d\}$ is the four Boolean lattice and $M_{3}=\{z, a, b, c, 1\}$ is the diamond lattice, and $\oplus$ stands for

Fig. $1 L=B_{4} \oplus M_{5}$ is a modular $p$-algebra

the ordinal sum. Let $J_{1}=\{0, x\}, J_{2}=\{0, y\}$ be two ideals of $L$, and $G_{1}=\{y, d, z, a, b, c, 1\}, G_{2}=\{x, d, z, a, b, c, 1\}$ two filters of $L$. Clearly, $\delta\left(G_{1}\right)=J_{1}$ and $\delta\left(G_{2}\right)=J_{2}$. Therefore, $J_{1}$ and $J_{2}$ are $\delta$-ideals of $L$. Now, we observe that $\delta\left(G_{1}\right) \vee \delta\left(G_{2}\right)=\{0, x, y, d\}$, which is not a $\delta$-ideal of $L$ but $\delta\left(G_{1}\right) \cap \delta\left(G_{2}\right)=J_{1} \cap J_{2}=\{0\}=\delta(D(L))$ is a $\delta$ ideal of $L$. Consequently, $\left(I^{\delta}(L) ; \cap, \vee\right)$ is not a sublattice of $I(L)$, but $\left(I^{\delta}(L) ; \cap\right)$ is a $\wedge$-subsemilattice of the semi-lattice $(I(L) ; \cap)$.

Theorem 3.8 For a p-algebra $L,\left(I^{\delta}(L) ; \cap, \sqcup\right)$ forms a bounded lattice, where

$$
\delta\left(G_{1}\right) \cap \delta\left(G_{2}\right)=\delta\left(G_{1} \cap G_{2}\right) \text { and } \delta\left(G_{1}\right) \sqcup \delta\left(G_{2}\right)=
$$ $\delta\left(G_{1} \vee G_{2}\right)$.

Proof Let $G_{1}$ and $G_{2}$ be two filters of a $p$-algebra $L$. We prove that the infimum and supremum of both $\delta\left(G_{1}\right)$ and $\delta\left(G_{2}\right)$ in $I^{\delta}(L)$ are $\delta\left(G_{1} \cap G_{2}\right)$ and $\delta\left(G_{1} \vee G_{2}\right)$, respectively, that is,

$$
\begin{aligned}
\delta\left(G_{1}\right) \cap \delta\left(G_{2}\right) & =\delta\left(G_{1} \cap G_{2}\right) \text { and } \delta\left(G_{1}\right) \sqcup \delta\left(G_{2}\right) \\
& =\delta\left(G_{1} \vee G_{2}\right) .
\end{aligned}
$$

Since $G_{1} \cap G_{2} \subseteq G_{1}, G_{2}, \delta\left(G_{1} \cap G_{2}\right) \subseteq \delta\left(G_{1}\right), \delta\left(G_{2}\right)$. Thus, $\delta\left(G_{1} \cap G_{2}\right)$ is a lower bound of $\delta\left(G_{1}\right)$ and $\delta\left(G_{2}\right)$. Assume $\delta(H)$ is another lower bound of $\delta\left(G_{1}\right)$ and $\delta\left(G_{2}\right)$. Then, $\delta(H) \subseteq \delta\left(G_{1}\right), \delta\left(G_{2}\right)$. Let $z \in \delta(H)$. Then, $z \in$ $\delta\left(G_{1}\right), \delta\left(G_{2}\right)$ and hence $z^{*} \in G_{1} \cap G_{2}$. Thus, $z \in \delta\left(G_{1} \cap\right.$ $\left.G_{2}\right)$. So $\delta(H) \subseteq \delta\left(G_{1} \cap G_{2}\right)$ and hence $\delta\left(G_{1} \cap G_{2}\right)$ is the greatest lower bound of both $\delta\left(G_{1}\right)$ and $\delta\left(G_{2}\right)$ in $I^{\delta}(L)$. Clearly, $\delta\left(G_{1} \vee G_{2}\right)$ is an ideal. Now, we prove that $\delta\left(G_{1} \vee\right.$ $\left.G_{2}\right)$ is the least upper bound of $\delta\left(G_{1}\right)$ and $\delta\left(G_{2}\right)$ in $I^{\delta}(L)$. Since $G_{1}, G_{2} \subseteq G_{1} \vee G_{2}$, then $\delta\left(G_{1}\right), \delta\left(G_{2}\right) \subseteq \delta\left(G_{1} \vee G_{2}\right)$. Thus, $\delta\left(G_{1} \vee G_{2}\right)$ is an upper bound of $\delta\left(G_{1}\right)$ and $\delta\left(G_{2}\right)$. Let $\delta(H)$ be another upper bound of $\delta\left(G_{1}\right)$ and $\delta\left(G_{2}\right)$. Then, $\delta\left(G_{1}\right), \delta\left(G_{2}\right) \subseteq \delta(H)$. Let $z \in \delta\left(G_{1} \vee G_{2}\right)$. Then, $z^{*} \in$ $G_{1} \vee G_{2}$ and hence $z^{*} \geq g_{1} \wedge g_{2}$ for some $g_{1} \in G_{1}$ and $g_{2} \in G_{2}$. This implies $g_{1}^{*} \in \delta\left(G_{1}\right)$ and $g_{2}^{*} \in \delta\left(G_{2}\right)$. Since $\delta\left(G_{1}\right), \delta\left(G_{2}\right) \subseteq \delta(H)$, then $g_{1}^{*}, g_{2}^{*} \in \delta(H)$. Now,

$$
\begin{aligned}
g_{1}^{*} & \in \delta(H), g_{2}^{*} \in \delta(H) \Rightarrow g_{1}^{*} \vee g_{2}^{*} \in \delta(H) \\
& \Rightarrow\left(g_{1}^{*} \vee g_{2}^{*}\right)^{* *} \in \delta(H) \\
& \Rightarrow\left(g_{1}^{* *} \wedge g_{2}^{* *}\right)^{*} \in \delta(H) \\
& \Rightarrow z^{* *} \leq\left(g_{1} \wedge g_{2}\right)^{*}=\left(g_{1} \wedge g_{2}\right)^{* * *}=\left(g_{1}^{* *} \wedge g_{2}^{* *}\right)^{*} \in \delta(H) \\
& \Rightarrow z^{* *} \in \delta(H) \\
& \Rightarrow z \in \delta(H) .
\end{aligned}
$$

Thus, $\delta\left(G_{1} \vee G_{2}\right) \subseteq \delta(H)$. Therefore, $\delta\left(G_{1} \vee G_{2}\right)$ is the least upper bound of $\delta\left(G_{1}\right)$ and $\delta\left(G_{2}\right)$ in $I^{\delta}(L)$. Then, sup $\left\{\delta\left(G_{1}\right), \delta\left(G_{2}\right)\right\}=\delta\left(G_{1} \vee G_{2}\right)$. It is clear that $\delta(L)=L$ and $\delta([1))=\{0\}=(0]$ are the greatest and smallest members of $I^{\delta}(L)$, respectively. Thus, $\left(I^{\delta}(L) ; \cap, \sqcup\right)$ is a bounded lattice.

## 4 Principal $\delta$-ideals of a $p$-algebra

In this section, we introduce and investigate the basic properties of principal $\delta$-ideals of a $p$-algebra $L$.

Lemma 4.1 Let $L$ be a p-algebra. Then for each $z \in L,\left(z^{*}\right]$ is a $\delta$-ideal of $L$.

Proof We prove that $\left(z^{*}\right]=\delta([z))$. To this end, let $a \in\left(z^{*}\right]$. Then, $a \leq z^{*}$ and hence $a^{*} \geq z^{* *} \geq z \in[z)$. So $a \in \delta([z))$. Therefore, $\left(z^{*}\right] \subseteq \delta([z))$. On the other hand, let $a \in \delta([z))$. Then, $a^{*} \in[z)$. Thus, $a^{*} \geq z$. Since $a \leq a^{* *} \leq z^{*} \in\left(z^{*}\right]$, we get $a \in\left(z^{*}\right]$. Thus, $\delta([z)) \subseteq\left(z^{*}\right]$. Therefore, $\left(z^{*}\right]=\delta([z))$.

Definition 4.2 A $\delta$-ideal of the form $\delta([z))=\left(z^{*}\right]$ for $z \in L$ is called a principal $\delta$-ideal of $L$.

Theorem 4.3 For a p-algebra L, we have the following statements:
(1) $\delta([z))=\delta\left(\left[z^{* *}\right)\right), \forall z \in L$.
(2) $\delta([d))=\{0\}, \forall d \in D(L)$.
(3) if $z \leq y$, then $\delta([y)) \subseteq \delta([z))$, but the converse is not hold.
(4) for a filter $G$ of $L, \delta([z)) \subseteq \delta(G)$ for all $z \in G$.

Proof (1) From Lemma 4.1, $\delta([z))=\left(z^{*}\right]=\left(z^{* * *}\right]=$ $\delta\left(\left[z^{* *}\right)\right)$.
(2) for all $d \in D(L), \delta([d))=\left(d^{*}\right]=(0]=\{0\}$.
(3) Let $z \leq y$. Then, $[y) \subseteq[z)$. By (4) of Lemma 3.3, we get $\delta([y)) \subseteq \delta([z))$. For the converse, consider the $p$-algebra in Fig. 2. Clearly, $\{0\}=\delta([c)) \subseteq \delta([e))=\{0, a\}$, but $c \not \leq e$ and $e \not \leq c$.
(4) For all $z \in G$, suppose that $a \in \delta([z))$. Now,

$$
a \in \delta([z)) \Rightarrow a^{*} \in[z)
$$



Fig. $2 L$ is a stone algebra

$$
\begin{aligned}
& \Rightarrow a^{*} \geq z \in G \\
& \Rightarrow a^{*} \in G \\
& \Rightarrow a \in \delta(G) .
\end{aligned}
$$

Thus, $\delta([z)) \subseteq \delta(G)$.

Theorem 4.4 Let L be a p-algebra. Then, the following are equivalent:
(1) $L$ is an $S$-algebra.
(2) For any $z_{1}, z_{2} \in L,\left(z_{1} \wedge z_{2}\right)^{*}=z_{1}^{*} \vee z_{2}^{*}$.
(3) For any two filters $G_{1}, G_{2}$ of $L, \delta\left(G_{1}\right) \vee \delta\left(G_{2}\right)=\delta\left(G_{1} \vee\right.$ $G_{2}$ ).
(4) $I^{\delta}(L)$ is a bounded sublattice of $I(L)$.

Proof $(1) \Rightarrow(2)$ : It is clear from (6) of Theorem 2.3. (2) $\Rightarrow$ (3): Assume (2) holds and $G_{1}, G_{2} \in L$. Since $G_{1}, G_{2} \subseteq$ $G_{1} \vee G_{2}$, then $\delta\left(G_{1}\right), \delta\left(G_{2}\right) \subseteq \delta\left(G_{1} \vee G_{2}\right)$. Thus, $\delta\left(G_{1}\right) \vee$ $\delta\left(G_{2}\right) \subseteq \delta\left(G_{1} \vee G_{2}\right)$.

Conversely, let $z \in \delta\left(G_{1} \vee G_{2}\right)$. Then, $z^{*} \in G_{1} \vee G_{2}$ and hence $z^{*} \geq g_{1} \wedge g_{2}$ for some $g_{1} \in G_{1}$ and $g_{2} \in G_{2}$ implies $g_{1}^{*} \in \delta\left(G_{1}\right)$ and $g_{2}^{*} \in \delta\left(G_{2}\right)$. Now,

$$
\begin{aligned}
z^{*} & \geq g_{1} \wedge g_{2} \Rightarrow z^{* *} \leq\left(g_{1} \wedge g_{2}\right)^{*}=g_{1}^{*} \vee g_{2}^{*} \in \delta\left(G_{1}\right) \vee \delta\left(G_{2}\right) \\
& \Rightarrow z^{* *} \in \delta\left(G_{1}\right) \vee \delta\left(G_{2}\right) \\
& \Rightarrow z \in \delta\left(G_{1}\right) \vee \delta\left(G_{2}\right) \quad\left(\text { as } z \leq z^{* *}\right)
\end{aligned}
$$

Thus, $\delta\left(G_{1} \vee G_{2}\right) \subseteq \delta\left(G_{1}\right) \vee \delta\left(G_{2}\right)$. Therefore, $\delta\left(G_{1}\right) \vee$ $\delta\left(G_{2}\right)=\delta\left(G_{1} \vee G_{2}\right)$.
$(3) \Rightarrow(4)$ : Assume (3) holds. It is clear that $\delta(L)$ and $\delta([1))$ are the greatest and smallest members of $I^{\delta}(L)$, respectively. Let $\delta\left(G_{1}\right), \delta\left(G_{2}\right) \in I^{\delta}(L)$. Then, $\delta\left(G_{1}\right) \vee \delta\left(G_{2}\right)=\delta\left(G_{1} \vee\right.$ $\left.G_{2}\right) \in I^{\delta}(L)$ and $\delta\left(G_{1}\right) \cap \delta\left(G_{2}\right)=\delta\left(G_{1} \cap G_{2}\right) \in I^{\delta}(L)$. Thus, $I^{\delta}(L)$ is a bounded sublattice of $I(L)$.
(4) $\Rightarrow$ (1): Assume (4). Since $\left(z^{*}\right]$ and $\left(z^{* *}\right]$ are $\delta$-ideals of $L$, we have

$$
\begin{aligned}
& \left(z^{*} \vee z^{* *}\right]=\left(z^{*}\right] \vee\left(z^{* *}\right] \\
& \quad=\delta([z)) \vee \delta\left(\left[z^{*}\right)\right) \\
& \quad=\delta\left([z) \vee\left[z^{*}\right)\right) \\
& \quad=\delta\left(\left[z \wedge z^{*}\right)\right) \\
& =\delta([0)) \\
& =\left(0^{*}\right] \\
& =(1]
\end{aligned}
$$

Thus, $z^{*} \vee z^{* *}=1$. Therefore, $L$ is an $S$-algebra.
Now, we characterize the concept of $\delta$-ideals in terms of principal $\delta$-ideals.

Theorem 4.5 Let J be a $\delta$-ideal of a p-algebra L. Then,
(1) $j \in J \Leftrightarrow j^{* *} \in J$.
(2) $\delta\left(\left[j^{*}\right)\right) \subseteq J, \forall j \in J$.
(3) $J=\bigcup_{j \in J} \delta\left(\left[j^{*}\right)\right)$.

Proof (1) Let $j \in J$. Since $J$ is a $\delta$-ideal of $L$, then $j \in J=$ $\delta(G)$ for some filter $G$ of $L$. Hence, $j^{* * *}=j^{*} \in G$. Thus, $j^{* *} \in \delta(G)=J$. The converse implication follows from the fact that $j \leq j^{* *}$.
(2) Let $j$ be an element of $J$ and let $x \in \delta\left(\left[j^{*}\right)\right)$. Then, $x^{*} \in\left[j^{*}\right)$ and hence $x \leq x^{* *} \leq j^{* *} \in J$ (by (1)). Thus, $x \in J$. Therefore, $\delta\left(\left[j^{*}\right)\right) \subseteq J$.
(3) Since $J$ is a $\delta$-ideal, we get $J=\delta(G)$ for some filter $G$ of $L$. Let $z \in J$. Then,

$$
\begin{aligned}
z & \in J=\delta(G) \Rightarrow z^{*} \in G \\
& \Rightarrow z^{*} \in\left[z^{*}\right) \subseteq G \\
& \Rightarrow z^{* *} \in \delta\left(\left[z^{*}\right)\right) \subseteq \delta(G) \\
& \Rightarrow z \leq z^{* *} \in \delta\left(\left[z^{*}\right)\right) \\
& \Rightarrow z \in \delta\left(\left[z^{*}\right)\right) \subseteq \bigcup_{j \in J} \delta\left(\left[j^{*}\right)\right)
\end{aligned}
$$

(as $z \in J$ )

Then, $J \subseteq \bigcup_{j \in J} \delta\left(\left[j^{*}\right)\right)$.
Conversely, let $z \in \bigcup_{j \in J} \delta\left(\left[j^{*}\right)\right)$. Then,

$$
\begin{aligned}
z & \in \bigcup_{j \in J} \delta\left(\left[j^{*}\right)\right) \Rightarrow z \in \delta\left(\left[k^{*}\right)\right), k \in J \\
& \left.\Rightarrow z \in \delta\left(\left[k^{*}\right)\right)=\left(k^{* *}\right] \subseteq J \quad \text { (as } k^{* *} \in J\right) \\
& \Rightarrow z \in J .
\end{aligned}
$$

Thus, $\bigcup_{j \in J} \delta\left(\left[j^{*}\right)\right) \subseteq J$. Therefore, $J=\bigcup_{j \in J} \delta\left(\left[j^{*}\right)\right)$.
Now, a characterization of $\delta$-ideals is given.

Theorem 4.6 Let L be a p-algebra. Then, for an ideal J of $L$, the following statements are equivalent:
(1) $J$ is a $\delta$-ideal.
(2) For any $a, b \in L$, $\delta\left(\left[a^{*}\right)\right)=\delta\left(\left[b^{*}\right)\right)$ and $a \in J$ imply $b \in J$.
(3) $J=\bigcup_{c \in J} \delta\left(\left[c^{*}\right)\right)$.

Proof (1) $\Rightarrow$ (2): Let $J$ be a $\delta$-ideal of $L$. Suppose that $\delta\left(\left[a^{*}\right)\right)=\delta\left(\left[b^{*}\right)\right)$ and $a \in J$. Then, $a \in J=\delta(G)$ for some filter $G$ of $L$. Hence, $a^{*} \in G .\left(a^{* *}\right]=\delta\left(\left[a^{*}\right)\right)=\delta\left(\left[b^{*}\right)\right)=$ $\left(b^{* *}\right]$ implies $a^{* *}=b^{* *}$. Then, $b^{*}=a^{*} \in G$. Therefore, $b \in \delta(G)=J$.
(2) $\Rightarrow$ (3): Assume (2) holds and $a \in J$. Since $a^{* *} \in\left(a^{* *}\right]$, we get $a \leq a^{* *} \in\left(a^{* *}\right]=\delta\left(\left[a^{*}\right)\right)$. Thus, $a \in \delta\left(\left[a^{*}\right)\right) \subseteq$ $\bigcup_{c \in J} \delta\left(\left[c^{*}\right)\right)($ as $a \in J)$. Therefore, $J \subseteq \bigcup_{c \in J} \delta\left(\left[c^{*}\right)\right)$.

Conversely, let $a \in \bigcup_{c \in J} \delta\left(\left[c^{*}\right)\right)$. Then, $a \in \delta\left(\left[b^{*}\right)\right)$ for some $b \in J$. Since $a \in \delta\left(\left[b^{*}\right)\right)=\delta\left(\left[b^{* * *}\right)\right)$ and $b \in J$, then $b^{* *} \in J$ by (2). Since $a \in \delta\left(\left[b^{*}\right)\right)$, we get $a^{*} \in\left[b^{*}\right)$ and hence $a^{*} \geq b^{*}$ which implies $a \leq a^{* *} \leq b^{* *} \in J$. Thus, $a \in J$. Therefore, $\bigcup_{c \in J} \delta\left(\left[c^{*}\right)\right) \subseteq J$. So $J=\bigcup_{c \in J} \delta\left(\left[c^{*}\right)\right)$. (3) $\Rightarrow$ (1): At first, we need to prove that $\bigcup_{c \in J}\left[c^{*}\right)$ is a filter of $L$. Since $1=0^{*} \in\left[0^{*}\right) \subseteq \bigcup_{c \in J}\left[c^{*}\right)$, we get $1 \in$ $\bigcup_{c \in J}\left[c^{*}\right)$. Let $a, b \in \bigcup_{c \in J}\left[c^{*}\right)$. Then, $a \in\left[x^{*}\right), b \in\left[y^{*}\right)$ for some $x, y \in J$ and hence $a \wedge b \geq x^{*} \wedge y^{*}=(x \vee y)^{*}$. Thus, $a \wedge b \in\left[(x \vee y)^{*}\right) \subseteq \bigcup_{c \in J}\left[c^{*}\right)($ as $x \vee y \in J)$. Now, let $z \geq b \in \bigcup_{c \in J}\left[c^{*}\right)$. Then, $z \geq b \in\left[x^{*}\right)$ for some $x \in J$. Thus, $z \in\left[x^{*}\right) \subseteq \bigcup_{c \in J}\left[c^{*}\right)$. Therefore, $\bigcup_{c \in J}\left[c^{*}\right)$ is a filter of $L$.

Secondly, we prove that $\delta\left(\bigcup_{c \in J}\left[c^{*}\right)\right)=\bigcup_{c \in J} \delta\left(\left[c^{*}\right)\right)$. Since $\left[c^{*}\right) \subseteq \bigcup_{c \in J}\left[c^{*}\right)$, then $\delta\left(\left[c^{*}\right)\right) \subseteq \delta\left(\bigcup_{c \in J}\left[c^{*}\right)\right)$. Thus, $\bigcup_{c \in J} \delta\left(\left[c^{*}\right)\right) \subseteq \delta\left(\bigcup_{c \in J}\left[c^{*}\right)\right)$.

Conversely, let $a \in \delta\left(\bigcup_{c \in J}\left[c^{*}\right)\right)$. Then,

$$
\begin{aligned}
a & \in \delta\left(\bigcup_{c \in J}\left[c^{*}\right)\right) \Rightarrow a^{*} \in \bigcup_{c \in J}\left[c^{*}\right) \\
& \Rightarrow a^{*} \in\left[x^{*}\right) \quad(\text { for some } x \in J) \\
& \left.\Rightarrow a \in \delta\left(\left[x^{*}\right)\right) \subseteq \bigcup_{c \in J} \delta\left(\left[c^{*}\right)\right) \quad \quad \text { as } x \in J\right)
\end{aligned}
$$

Then, $\delta\left(\bigcup_{c \in J}\left[c^{*}\right)\right) \subseteq \bigcup_{c \in J} \delta\left(\left[c^{*}\right)\right)$. Thus, $\delta\left(\bigcup_{c \in J}\left[c^{*}\right)\right)=$ $\bigcup_{c \in J} \delta\left(\left[c^{*}\right)\right)$. Now, we prove (3) $\Rightarrow$ (1). Assume that $J=$ $\bigcup_{c \in J} \delta\left(\left[c^{*}\right)\right)$. Then, $J=\bigcup_{c \in J} \delta\left(\left[c^{*}\right)\right)=\delta\left(\bigcup_{c \in J}\left[c^{*}\right)\right)$. Hence, $J$ is a $\delta$-ideal of $L$.

Let $I_{p}^{\delta}(L)=\left\{\left(z^{*}\right]: z \in L\right\}=\{\delta([z)): z \in L\}$ be the set of all principal $\delta$-ideals of $L$.

Theorem 4.7 Let L be a p-algebra. Then,
(1) $\left(I_{p}^{\delta}(L) ; \wedge, \sqcup,(0], L\right)$ is a bounded sublattice of $I^{\delta}(L)$.
(2) $I_{p}^{\delta}(L)$ is a Boolean algebra.
(3) $I_{p}^{\delta}(L)$ is a homomorphic image of $L$.
(4) $B(L)$ is isomorphic of $I_{p}^{\delta}(L)$.

Proof (1) Let $\left(x^{*}\right],\left(y^{*}\right] \in I_{p}^{\delta}(L)$. Then,

$$
\left(x^{*}\right] \wedge\left(y^{*}\right]=\left(x^{*} \wedge y^{*}\right]=\left((x \vee y)^{*}\right] \in I_{p}^{\delta}(L)
$$

and

$$
\begin{aligned}
\left(x^{*}\right] \sqcup\left(y^{*}\right] & =\delta([x)) \sqcup \delta([y))=\delta([x) \vee[y)) \\
& =\delta([x \wedge y))=\left((x \wedge y)^{*}\right] \in I_{p}^{\delta}(L) .
\end{aligned}
$$

We observe that $L,(0] \in I_{p}^{\delta}(L)$ which are the greatest and least elements of $I_{p}^{\delta}(L)$, respectively. Thus, $I_{p}^{\delta}(L)$ is a bounded sublattice of $I^{\delta}(L)$.
(2) Let $\left(x^{*}\right],\left(y^{*}\right],\left(z^{*}\right] \in I_{p}^{\delta}(L)$. We observe that

$$
\begin{aligned}
\left(x^{*}\right] \sqcup\left(y^{*}\right] & =\delta([x)) \sqcup \delta([y)) \\
& =\delta([x) \vee[y)) \\
& =\delta([x \wedge y)) \\
& =\left((x \wedge y)^{*}\right] \\
& =\left((x \wedge y)^{* * *}\right] \\
& =\left(\left(x^{* *} \wedge y^{* *}\right)^{*}\right] \\
& =\left(x^{*} \nabla y^{*}\right] .
\end{aligned}
$$

Now, we prove that $I^{\delta}(L)$ is a distributive lattice.

$$
\begin{aligned}
\left(x^{*}\right] & \cap\left(\left(y^{*}\right] \sqcup\left(z^{*}\right]\right)=\left(x^{*}\right] \cap\left(y^{*} \nabla z^{*}\right] \\
& =\left(x^{*} \wedge\left(y^{*} \nabla z^{*}\right)\right] \\
& \left.=\left(\left(x^{*} \wedge y^{*}\right) \nabla\left(x^{*} \wedge z^{*}\right)\right] \quad \text { (as } x^{*}, y^{*}, z^{*} \in B(L)\right) \\
& =\left((x \vee y)^{*} \nabla(x \vee z)^{*}\right] \\
& =\left((x \vee y)^{*}\right] \sqcup\left((x \vee z)^{*}\right] \\
& =\left(x^{*} \wedge y^{*}\right] \sqcup\left(x^{*} \wedge z^{*}\right] \\
& =\left(\left(x^{*}\right] \cap\left(y^{*}\right]\right) \sqcup\left(\left(x^{*}\right] \cap\left(z^{*}\right]\right) .
\end{aligned}
$$

Thus, $I_{p}^{\delta}(L)$ is a bounded distributive sublattice of $I^{\delta}(L)$. We have $\left(z^{*}\right] \wedge\left(z^{* *}\right]=\left(z^{*} \wedge z^{* *}\right]=(0]$ and $\left(z^{*}\right] \sqcup\left(z^{* *}\right]=$ $\delta([z)) \sqcup \delta\left(\left[z^{*}\right)\right)=\delta\left([z) \vee\left[z^{*}\right)\right)=\delta\left(\left[z \wedge z^{*}\right)\right)=\delta([0))=$ $L$. Thus, $\left(z^{* *}\right]$ is the complement of $\left(z^{*}\right]$, and we can write $\left(\left(z^{*}\right]\right)^{\prime}=\left(z^{* *}\right]$. Hence, $\left(I_{p}^{\delta}(L) ; \wedge, \sqcup,^{\prime},(0], L\right)$ is a Boolean algebra.
(3) Define $\alpha: L \longrightarrow I_{p}^{\delta}(L)$ by $\alpha(z)=\left(z^{* *}\right]$. Clearly, $\alpha$ is a well-defined map, and $\alpha(0)=(0], \alpha(1)=L$. Let $z, y \in L$. Then,

$$
\begin{aligned}
\alpha(z \wedge y) & =\left((z \wedge y)^{* *}\right] \\
& =\left(z^{* *} \wedge y^{* *}\right] \\
& =\left(z^{* *}\right] \wedge\left(y^{* *}\right] \\
& =\alpha(z) \wedge \alpha(y)
\end{aligned}
$$

and

$$
\begin{aligned}
\alpha(z \vee y) & =\left((z \vee y)^{* *}\right] \\
& =\left(\left(z^{*} \wedge y^{*}\right)^{*}\right] \\
& =\delta\left(\left[z^{*} \wedge y^{*}\right)\right) \\
& =\delta\left(\left[z^{*}\right) \vee\left[y^{*}\right)\right) \\
& =\delta\left(\left[z^{*}\right)\right) \sqcup \delta\left(\left[y^{*}\right)\right) \\
& =\left(z^{* *}\right] \sqcup\left(y^{* *}\right] \\
& =\alpha(z) \sqcup \alpha(y) .
\end{aligned}
$$

Now, $\alpha\left(z^{*}\right)=\left(z^{* * *}\right]=\left(\left(z^{* *}\right]\right)^{\prime}=(\alpha(z))^{\prime}$. Thus, $\alpha$ is a homomorphism of $L$ into $I_{p}^{\delta}(L)$. Now, for every $\left(z^{* *}\right] \in$ $I_{p}^{\delta}(L)$, there exists $z \in L$ such that $\alpha(z)=\left(z^{* *}\right]$. Thus, $\alpha$ is an onto map. Moreover, $\alpha$ is not a one-to-one map, because of $\delta([a))=\delta([b))$ implies $a^{*}=b^{*}$ and $a \neq b$.
(4) Define $h: B(L) \longrightarrow I_{p}^{\delta}(L)$ by $h(z)=(z]$. Clearly, $h$ is a well-defined map. Let $z, y \in B(L)$. Then,

$$
\begin{aligned}
h(z \wedge y) & =(z \wedge y] \\
& =(z] \wedge(y] \\
& =h(z) \wedge h(y)
\end{aligned}
$$

and

$$
\begin{aligned}
& h(z \nabla y)=(z \nabla y] \\
&=\left((z \vee y)^{* *}\right] \\
&=\left(\left(z^{*} \wedge y^{*}\right)^{*}\right] \\
&=\delta\left(\left[z^{*} \wedge y^{*}\right)\right) \\
&=\delta\left(\left[z^{*}\right) \vee\left[y^{*}\right)\right) \\
&=\delta\left(\left[z^{*}\right)\right) \sqcup \delta\left(\left[y^{*}\right)\right) \\
&=\left(z^{* *}\right] \sqcup\left(y^{* *}\right] \quad \\
&=(z] \sqcup(y] \quad(\text { as } z, y \in B(L)) \\
&=h(z) \sqcup h(y) .
\end{aligned}
$$

We have $h(0)=(0], h(1)=L$, and $h\left(z^{*}\right)=\left(z^{*}\right]=$ $\left(z^{* * *}\right]=\left(\left(z^{* *}\right]\right)^{\prime}=((z])^{\prime}=(h(z))^{\prime}$. For every $\left(z^{* *}\right] \in$ $I_{p}^{\delta}(L)$, there exists $a \in B(L)$ such that $a=z^{* *}$. Then, $h(a)=(a]=\left(z^{* *}\right]=(z]$. Also, let $h(z)=h(y)$. Then, $(z]=(y]$ and hence $z=y$. Thus, $h$ is one to one. Therefore, $h$ is an isomorphism from $B(L)$ into $I_{p}^{\delta}(L)$.

Corollary 4.8 Assume that $L$ is an S-algebra. Then, $\left(I_{p}^{\delta}(L)\right.$; $\wedge, \vee,(0], L)$ is a bounded sublattice of $I(L)$.

## 5 Comaximality of $\delta$-ideals

This section is devoted to introducing the notion of comaximality of $\delta$-ideals and studying some related properties.

Fig. $3 L=B_{4} \oplus N_{5}$ is a non-modular $p$-algebra


Let us recall that two ideals $J_{1}$ and $J_{2}$ of a $p$-algebra $L$ are called comaximal if $J_{1} \vee J_{2}=L$.
Now, we introduce the $\sqcup$-comaximality of $\delta$-ideals of a $p$ algebra $L$.

Definition 5.1 Two $\delta$-ideals $J_{1}$ and $J_{2}$ of a $p$-algebra $L$ are called $\sqcup$-comaximal if $J_{1} \sqcup J_{2}=L$.

Lemma 5.2 Any two comaximal $\delta$-ideals of a p-algebra $L$ are $\sqcup$-comaximal.

Proof Let $J_{1}$ and $J_{2}$ be two comaximal $\delta$-ideals of a $p$ algebra $L$. Then, $J_{1} \vee J_{2}=L$. Since $J_{1}=\delta\left(G_{1}\right)$ and $J_{2}=\delta\left(G_{2}\right)$ for some filters $G_{1}$ and $G_{2}$ of $L$, we get $L=\delta\left(G_{1}\right) \vee \delta\left(G_{2}\right)$. Now,
$L=\delta\left(G_{1}\right) \vee \delta\left(G_{2}\right) \subseteq \delta\left(G_{1} \vee G_{2}\right)=\delta\left(G_{1}\right) \sqcup \delta\left(G_{2}\right)=J_{1} \sqcup J_{2}$.

Thus, $J_{1}$ and $J_{2}$ are $\sqcup$-comaximal.
The following example shows that the converse of the above lemma is not true.

Example 5.3 Consider a $p$-algebra $L=B_{4} \oplus N_{5}$ in Fig. 3, where $B_{4}=\{0<a, b<d\}$ is the four Boolean lattice and $N_{5}=\{c, x, y, z, 1\}$ is the Pentagon lattice. We observe that ( $a$ ] and ( $b$ ] are $\sqcup$-comaximal $\delta$-ideals, but they are not comaximal as $(a] \sqcup(b]=\left(b^{*}\right] \sqcup\left(a^{*}\right]=\delta([b)) \sqcup \delta([a))=$ $\delta([b) \vee[a))=\delta([b \wedge a))=\delta([0))=L$, and $(a] \vee(b]=$ $(a \vee b]=(d] \neq L$.

The converse of the above lemma holds in the following special case:

Corollary 5.4 Any two ப-comaximal $\delta$-ideals of an S-algebra $L$ are comaximal.

Lemma 5.5 Let L be a p-algebra. If $z, y \in L$ such that $z \wedge$ $y=0$, then $\delta([z))$ and $\delta([y))$ are $\sqcup$-comaximal in $L$.

Proof Let $z, y \in L$ with $z \wedge y=0$. Then,
$\delta([z)) \sqcup \delta([y))=\delta([z) \vee[y))=\delta([z \wedge y))=\delta([0))=L$.
Therefore, $\delta([z))$ and $\delta([y))$ are $\sqcup$-comaximal in $L$.
Theorem 5.6 Let L be a distributive p-algebra. Then,
(1) Every prime $\delta$-ideal of $L$ is a minimal prime ideal.
(2) Any two distinct prime $\delta$-ideals of $L$ are $\sqcup$-comaximal.

Proof (1) Let $J_{1}$ be a prime $\delta$-ideal of $L$. Then, $J_{1}=\delta\left(G_{1}\right)$ for some filter $G_{1}$ of $L$, let $z \in J_{1}=\delta\left(G_{1}\right)$. Then, $z^{*} \in G_{1}$. We have $0=z \wedge z^{*} \in J_{1}$. Suppose that $z^{*} \in J_{1}$. Then, $z^{*} \in G_{1} \cap \delta\left(G_{1}\right) \neq \phi$ which contradicts with (1) of Lemma 3.3. Hence, $z^{*} \notin J_{1}$, that is, for $z \in J_{1}$, there exists $y=z^{*} \notin J_{1}$ such that $z \wedge y=0$. Thus, $J_{1}$ is a minimal prime ideal.
(2) Let $J_{1}$ and $J_{2}$ be two distinct prime $\delta$-ideals of $L$. Then by (1), $J_{1}$ and $J_{2}$ are minimal prime ideals. Let $a \in J_{1}-J_{2}$ and $b \in J_{2}-J_{1}$. Since $J_{1}$ and $J_{2}$ are two minimal prime ideals, then there exist $x \notin J_{1}$ and $y \notin J_{2}$ such that $a \wedge x=0=b \wedge y$. Since $x \notin J_{1}$ and $b \notin J_{1}$, then $b \wedge x \notin J_{1}$ ( as $J_{1}$ is a prime ideal ), similarly $a \wedge y \notin J_{2}$. By definition of pseudo-complement and the fact that $J_{1}$ is a prime ideal, we get $(b \wedge x)^{*} \in J_{1}$. Thus, $\delta([b \wedge$ $x))=\left((b \wedge x)^{*}\right] \subseteq J_{1}$. Similarly, $\delta([a \wedge y)) \subseteq J_{2}$. Now, $(b \wedge x) \wedge(a \wedge y)=(a \wedge x) \wedge(b \wedge y)=0 \wedge 0=0$. Then by Lemma 5.5, we get $\delta([a \wedge y))$ and $\delta([b \wedge x))$ are $\sqcup$-comaximal. Hence,

$$
L=\delta([a \wedge y)) \sqcup \delta([b \wedge x)) \subseteq J_{1} \sqcup J_{2}
$$

Thus, $J_{1} \sqcup J_{2}=L$. Therefore, $J_{1}$ and $J_{2}$ are பcomaximal.

Let $J$ be an ideal of a $p$-algebra $L$. For any $z \in L$, consider
$\delta_{J}([z))=\left\{j \in J: j^{*} \in[z)\right\}$.

Lemma 5.7 Let $J$ be an ideal of p-algebra L. Then,
(1) $\delta_{J}([z))=J \cap \delta([z))$ is an ideal of $J$.
(2) $\delta_{J}([z))$ is a $\delta$-ideal of $L$, whenever $J$ is a $\delta$-ideal of $L$.

Proof (1) It is clear that $\delta_{J}([z))=\{j \in J: j \in \delta([z))\}=$ $J \cap \delta([z))$, and hence, $\delta_{J}([z))$ is an ideal of $J$.
(2) Since $\delta_{J}([z))=J \cap \delta([z))$ and $J, \delta([z))$ are two $\delta$-ideals of $L$, then $\delta_{J}([z))$ is a $\delta$-ideal of $L$.

Theorem 5.8 (1) Let $J$ be a principal $\delta$-ideal of a p-algebra
$L$. Then for any $z, y \in L$ with $z \wedge y=0, \delta_{J}([z))$ and $\delta_{J}([y))$ are $\sqcup$-comaximal in $J$.
(2) Let $J$ be a $\delta$-ideal of a distributive p-algebra L. Then for any $z, y \in L$ with $z \wedge y=0, \delta_{J}([z))$ and $\delta_{J}([y))$ are $\sqcup$-comaximal in $J$.

Proof (1) Let $J=\delta([a))$ be a principal $\delta$-ideal of a $p$ algebra $L$ and $z, y \in L$ with $z \wedge y=0$. Then by Lemma 5.5, we have $\delta([z)) \sqcup \delta([y))=L$. Now,

$$
\begin{aligned}
& \delta_{J}([z)) \sqcup \delta_{J}([y))=(J \cap \delta([z))) \sqcup(J \cap \delta([y))) \\
& \quad=(\delta([a)) \cap \delta([z))) \sqcup(\delta([a)) \cap \delta([y))) \quad \text { (as } J=\delta([a))) \\
& \quad=\left(\left(\left(a^{*}\right] \cap\left(z^{*}\right]\right) \sqcup\left(\left(a^{*}\right] \cap\left(y^{*}\right]\right) \quad\right. \\
& \left.\quad=\left(a^{*}\right] \cap\left(\left(z^{*}\right] \sqcup\left(y^{*}\right]\right) \quad \quad \text { as } I_{p}^{\delta}(L) \text { is distributive }\right) \\
& \quad=\delta([a)) \cap(\delta([z)) \sqcup \delta([y))) \quad \quad \text { as } \delta([z)) \sqcup \delta([y))=L) \\
& \quad=\delta([a)) \cap L \quad \\
& \quad=J \cap L \\
& \quad=J
\end{aligned}
$$

Therefore, $\delta_{J}([z))$ and $\delta_{J}([y))$ are $\sqcup$-comaximal in $J$.
(2) Using a similar way of (1), one can prove that $\delta_{J}([z))$ and $\delta_{J}([y))$ are $\sqcup$-comaximal in $J$.

## 6 Homomorphic images of $\delta$-ideals

This section discusses the properties of images and the inverse images of $\delta$-ideals ( principal $\delta$-ideals) with respect to a homomorphism of two $p$-algebras. By a homomorphism on a $p$-algebra $L$, we mean a lattice homomorphism $h$ satisfying $(h(x))^{*}=h\left(x^{*}\right)$ for all $x \in L$.
Theorem 6.1 Assume that $h: L_{1} \longrightarrow L_{2}$ is an onto homomorphism of a p-algebra $L_{1}$ to a p-algebra $L_{2}$. Then,
(1) The image of a principal $\delta$-ideal is a principal $\delta$-ideal, that is, for any $z \in L_{1}, h(\delta[z))=\delta([h(z)))$.
(2) for any filter $G_{1}$ of $L_{1}, h\left(\delta\left(G_{1}\right)\right)=\delta\left(h\left(G_{1}\right)\right)$.
(3) for any $\delta$-ideal $J_{1}$ of $L_{1}, h\left(J_{1}\right)$ is a $\delta$-ideal of $L_{2}$.
(4) for any $\delta$-ideal $J$ of $L_{1}, h(J)=\bigcup_{j \in J} \delta\left(\left[(h(j))^{*}\right)\right)$.

Proof (1) For all $z \in L_{1}$, we get

$$
\begin{aligned}
h(\delta([z)))=h\left(\left(z^{*}\right]\right) & =h\left\{c \in L_{1}: c \leq z^{*}\right\} \\
& =\left\{h(c) \in L_{2}: h(c) \leq h\left(z^{*}\right)\right\} \\
& =\left\{h(c) \in L_{2}: h(c) \leq h(z)^{*}\right\} \\
& =\left(h(z)^{*}\right]=\delta([h(z))) .
\end{aligned}
$$

(2) For any filter $G_{1}$ of $L_{1}$, let $z \in \delta\left(h\left(G_{1}\right)\right)$. Then,

$$
z \in \delta\left(h\left(G_{1}\right)\right) \Rightarrow z^{*} \in h\left(G_{1}\right)
$$

$$
\begin{aligned}
& \Rightarrow z^{*}=h\left(j_{1}\right) \text { for } j_{1} \in G_{1} \\
& \Rightarrow z \leq z^{* *}=\left(h\left(j_{1}\right)\right)^{*}=h\left(j_{1}^{*}\right) \in h\left(\delta\left(G_{1}\right)\right) \\
& \Rightarrow z \in h\left(\delta\left(G_{1}\right)\right) \quad \quad\left(\text { as } h\left(\delta\left(G_{1}\right)\right) \text { is an ideal }\right) \\
& \Rightarrow \delta\left(h\left(G_{1}\right)\right) \subseteq h\left(\delta\left(G_{1}\right)\right) .
\end{aligned}
$$

Conversely, let $z \in h\left(\delta\left(G_{1}\right)\right)$. Then,

$$
\begin{aligned}
z \in h\left(\delta\left(G_{1}\right)\right) & \Rightarrow z=h(y) \text { for } y \in \delta\left(G_{1}\right) \\
& \Rightarrow y^{*} \in G_{1} \\
& \Rightarrow z^{*}=(h(y))^{*}=h\left(y^{*}\right) \in h\left(G_{1}\right) \\
& \Rightarrow z \in \delta\left(h\left(G_{1}\right)\right) \\
& \Rightarrow h\left(\delta\left(G_{1}\right)\right) \subseteq \delta\left(h\left(G_{1}\right)\right)
\end{aligned}
$$

Thus, $h\left(\delta\left(G_{1}\right)\right)=\delta\left(h\left(G_{1}\right)\right)$.
(3) Let $J_{1}$ be a $\delta$-ideal of $L_{1}$. Then, $J_{1}=\delta\left(G_{1}\right)$ for some filter $G_{1}$ of $L_{1}$. Now,

$$
\begin{aligned}
h\left(J_{1}\right) & =h\left(\delta\left(G_{1}\right)\right) \\
& =h\left\{z \in L_{1}: z^{*} \in G_{1}\right\} \\
& =\left\{h(z) \in L_{2}: h\left(z^{*}\right) \in h\left(G_{1}\right)\right\} \\
& =\left\{h(z) \in L_{2}: h(z)^{*} \in h\left(G_{1}\right)\right\} \\
& =\delta\left(h\left(G_{1}\right)\right) .
\end{aligned}
$$

Thus, $h\left(J_{1}\right)$ is a $\delta$-ideal of $L_{2}$.
(4) For any $\delta$-ideal $J$ of $L_{1}, J=\bigcup_{j \in J} \delta\left(\left[j^{*}\right)\right)$ from (3) Theorem 4.6. Let $z \in h(J)$. Then, $z=h(j)$ for some $j \in$ $J$. Then, $z \leq z^{* *} \in\left(z^{* *}\right]=\delta\left(\left[z^{*}\right)\right)=\delta\left(\left[(h(j))^{*}\right)\right) \subseteq$ $\bigcup_{j \in J} \delta\left(\left[(h(j))^{*}\right)\right)$. Thus, $h(J) \subseteq \bigcup_{j \in J} \delta\left(\left[(h(j))^{*}\right)\right)$. Conversely, let $z \in \bigcup_{j \in J} \delta\left(\left[(h(j))^{*}\right)\right)$. Now,

$$
\begin{aligned}
z & \in \bigcup_{j \in J} \delta\left(\left[(h(j))^{*}\right)\right) \Rightarrow z \in \delta\left(\left[(h(c))^{*}\right)\right), c \in J \\
& \Rightarrow z \in\left((h(c))^{* *}\right] \\
& \Rightarrow z \leq\left((h(c))^{* *}=h\left(c^{* *}\right) \in h(J) \quad \quad \text { as } c^{* *} \in J\right) \\
& \Rightarrow z \in h(J) \quad \text { (as } h(J) \text { is an ideal) }
\end{aligned}
$$

Thus, $\bigcup_{j \in J} \delta\left(\left[(h(j))^{*}\right)\right) \subseteq h(J)$. Therefore, $h(J)=$ $\bigcup_{j \in J} \delta\left(\left[(h(j))^{*}\right)\right)$.

Theorem 6.2 Let $h: L_{1} \rightarrow L_{2}$ be a homomorphism of a p-algebra $L_{1}$ into a p-algebra $L_{2}$. Then,
(1) $\operatorname{Ker} h$ is a $\delta$-ideal of $L_{1}$.
(2) For any $\delta$-ideal $K$ of $L_{2}, h^{-1}(K)$ is a $\delta$-ideal of $L_{1}$ containing Ker h.

Proof (1) Since $h$ is a homomorphism of a $p$-algebra $L_{1}$ into a $p$-algebra $L_{2}$, then $\operatorname{Ker} h=\left\{z \in L_{1}: h(z)=0\right\}$ and Coker $h=\left\{z \in L_{1}: h(z)=1\right\}$ are an ideal and a filter
of $L_{1}$, respectively. We show that Ker $h=\delta($ Coker $h)$. Let $z \in \operatorname{Ker} h$. Then,

$$
\begin{aligned}
z \in \text { Ker } h & \Leftrightarrow h(z)=0 \\
& \Leftrightarrow(h(z))^{*}=h\left(z^{*}\right)=1 \\
& \Leftrightarrow z^{*} \in \text { Coker } h \\
& \Leftrightarrow z \in \delta(\text { Coker } h)
\end{aligned}
$$

Thus, Ker $h=\delta($ Coker $h)$.
(2) Let $K$ be a $\delta$-ideal of $L_{2}$. Then, $K=\delta\left(G_{1}\right)$ for some filter $G_{1}$ of $L_{2}$. Since $h^{-1}(K)$ is an ideal of $L_{1}$. We prove that $h^{-1}(K)=\delta\left(h^{-1}\left(G_{1}\right)\right)$. So let $z \in h^{-1}(K)$. Then,

$$
\begin{aligned}
z & \in h^{-1}(K) \Leftrightarrow h(z)=c, c \in K=\delta\left(G_{1}\right) \\
& \left.\Leftrightarrow h(z)^{*}=h\left(z^{*}\right)=c^{*} \in G_{1} \quad \text { (as } c \in \delta\left(G_{1}\right) \Rightarrow c^{*} \in G_{1}\right) \\
& \Leftrightarrow z^{*} \in h^{-1}\left(\left\{c^{*}\right\}\right) \subseteq h^{-1}\left(G_{1}\right) \\
& \Leftrightarrow z \in \delta\left(h^{-1}\left(G_{1}\right)\right)
\end{aligned}
$$

Thus, $h^{-1}(K)=\delta\left(h^{-1}\left(G_{1}\right)\right)$. Therefore, $h^{-1}(K)$ is a $\delta$-ideal of $L_{1}$. Let $z \in$ Ker $h$. Then, $h(z)=0 \in K=$ $\delta\left(G_{1}\right)$, and hence, $h\left(z^{*}\right)=h(z)^{*}=1 \in G_{1}$ implies $z^{*} \in h^{-1}\left(G_{1}\right)$. Thus, $z \in \delta\left(h^{-1}\left(G_{1}\right)\right)$. Therefore, Ker $h \subseteq \delta\left(h^{-1}\left(G_{1}\right)\right)$.

Theorem 6.3 Let $h: L_{1} \longrightarrow L_{2}$ be an onto homomorphism of a p-algebra $L_{1}$ to a p-algebra $L_{2}$. Then,
(1) $\alpha: I_{p}^{\delta}\left(L_{1}\right) \longrightarrow I_{p}^{\delta}\left(L_{2}\right), \alpha(\delta([z)))=\delta([h(z))), \forall \delta([z))$ $\in I_{p}^{\delta}\left(L_{1}\right)$ is a Boolean homomorphism.
(2) $\alpha: I^{\delta}\left(L_{1}\right) \longrightarrow I^{\delta}\left(L_{2}\right), \alpha(\delta(G))=\delta(h(G)), \forall \delta(G) \in$ $I^{\delta}\left(L_{1}\right)$ is a homomorphism.

Proof (1) Define $\alpha: I_{p}^{\delta}\left(L_{1}\right) \longrightarrow I_{p}^{\delta}\left(L_{2}\right)$ by $\alpha(\delta([z)))=$ $\delta([h(z)))$. Clearly, $\alpha$ is well-defined. $\alpha\left(L_{1}\right)=\alpha\left(\delta\left(\left[0_{L_{1}}\right)\right)\right)$ $=\delta\left(\left[h\left(0_{L_{1}}\right)\right)\right)=\delta\left(\left[0_{L_{2}}\right)\right)=\delta\left(L_{2}\right)=L_{2}$ and $\alpha\left\{0_{L_{1}}\right\}=$ $\alpha\left(\delta\left(\left[1_{L_{1}}\right)\right)\right)=\delta\left(\left[h\left(1_{L_{1}}\right)\right)\right)=\delta\left(\left[1_{L_{2}}\right)\right)=\left\{0_{L_{2}}\right\}$. Let $\delta([a)), \delta([y)) \in I_{p}^{\delta}\left(L_{1}\right)$. Then,

$$
\begin{aligned}
\alpha(\delta([z)) \wedge \delta([y))) & =\alpha(\delta([z) \wedge[y))) \\
& =\alpha(\delta([z \vee y))) \\
& =\delta([h(z \vee y)) \\
& =\delta([h(z) \vee h(y))) \\
& =\delta([h(z)) \wedge[h(y))) \\
& =\delta([h(z))) \wedge \delta([h(y))) \\
& =\alpha(\delta([z))) \wedge \alpha(\delta([y)))
\end{aligned}
$$

and

$$
\alpha(\delta([z)) \sqcup \delta([y)))=\alpha(\delta([z) \vee[y)))
$$

$$
\begin{aligned}
& =\alpha(\delta([z \wedge y))) \\
& =\delta([h(z \wedge y)) \\
& =\delta([h(z) \wedge h(y))) \\
& =\delta([h(z)) \vee[h(y))) \\
& =\delta([h(z))) \sqcup \delta([h(y))) \\
& =\alpha(\delta([z))) \sqcup \alpha(\delta([y)))
\end{aligned}
$$

Since $I_{p}^{\delta}\left(L_{1}\right)$ and $I_{p}^{\delta}\left(L_{2}\right)$ are Boolean algebras, we get $\left(\alpha(\delta([z)))^{*}=\left(\alpha\left(\left(z^{*}\right]\right)\right)^{*}=\left(\alpha\left(\left(z^{*}\right]\right)\right)^{\prime}\right.$. Thus,

$$
\begin{aligned}
\alpha\left((\delta([z)))^{*}\right)= & \alpha\left(\left(\left(z^{*}\right]\right)^{*}\right) \\
& =\alpha\left(\left(z^{* *}\right]\right) \\
& =\alpha\left(\delta\left(\left[z^{*}\right)\right)\right) \\
& =\delta\left(\left[h\left(z^{*}\right)\right)\right. \\
& =\delta\left(\left[(h(z))^{*}\right)\right) \\
& =\left((h(z))^{* *}\right] \\
& =\left(\left((h(z))^{*}\right]\right)^{*} \\
& =(\delta([h(z))))^{*} \\
& =(\alpha(\delta([z))))^{*}
\end{aligned}
$$

Therefore, $\alpha$ is a Boolean homomorphism of $I_{p}^{\delta}\left(L_{1}\right)$ into $I_{p}^{\delta}\left(L_{2}\right)$.
(2) Define $\alpha: I^{\delta}\left(L_{1}\right) \longrightarrow I^{\delta}\left(L_{2}\right)$ by $\alpha\left(J_{1}\right)=\delta(h(G))$ where $J_{1}=\delta(G)$. Clearly, $\alpha$ is well-defined and $\alpha\left\{0_{L_{1}}\right\}=\left\{0_{L_{2}}\right\}, \alpha\left(L_{1}\right)=L_{2}$. Let $J_{1}, J_{2} \in I^{\delta}\left(L_{1}\right)$. Then, $J_{1}=\delta\left(G_{1}\right)$ and $J_{2}=\delta\left(G_{2}\right)$ for some filters $G_{1}$ and $G_{2}$ of $L_{1}$. Then, we get

$$
\begin{aligned}
\alpha\left(J_{1} \wedge J_{2}\right) & =\alpha\left(\delta\left(G_{1}\right) \wedge \delta\left(G_{2}\right)\right) \\
& =\alpha\left(\delta\left(G_{1} \wedge G_{2}\right)\right) \\
& =\delta\left(h\left(G_{1} \wedge G_{2}\right)\right) \\
& =\delta\left(h\left(G_{1}\right)\right) \wedge \delta\left(h\left(G_{2}\right)\right) \\
& =\alpha\left(J_{1}\right) \wedge \alpha\left(J_{2}\right)
\end{aligned}
$$

and

$$
\begin{aligned}
\alpha\left(J_{1} \sqcup J_{2}\right) & =\alpha\left(\delta\left(G_{1}\right) \sqcup \delta\left(G_{2}\right)\right) \\
& =\alpha\left(\delta\left(G_{1} \vee G_{2}\right)\right) \\
& =\delta\left(h\left(G_{1} \vee G_{2}\right)\right) \\
& =\delta\left(h\left(G_{1}\right)\right) \sqcup \delta\left(h\left(G_{2}\right)\right) \\
& =\alpha\left(J_{1}\right) \sqcup \alpha\left(J_{2}\right) .
\end{aligned}
$$

Therefore, $\alpha$ is a homomorphism of $I^{\delta}\left(L_{1}\right)$ into $I^{\delta}\left(L_{2}\right)$.

Acknowledgements The authors would like to thank the editor and referees for their valuable suggestions and comments which improved the presentation of this article.

Author Contributions The authors read and approved the final manuscript.

Funding Open access funding provided by The Science, Technology \& Innovation Funding Authority (STDF) in cooperation with The Egyptian Knowledge Bank (EKB). The authors declare that no funds, grants, or other support were received during the preparation of this manuscript.

Data availability Not applicable.

## Declarations

Conflict of interest The authors declare that they have no competing interests.

## Ethical approval Not applicable.

Open Access This article is licensed under a Creative Commons Attribution 4.0 International License, which permits use, sharing, adaptation, distribution and reproduction in any medium or format, as long as you give appropriate credit to the original author(s) and the source, provide a link to the Creative Commons licence, and indicate if changes were made. The images or other third party material in this article are included in the article's Creative Commons licence, unless indicated otherwise in a credit line to the material. If material is not included in the article's Creative Commons licence and your intended use is not permitted by statutory regulation or exceeds the permitted use, you will need to obtain permission directly from the copyright holder. To view a copy of this licence, visit http://creativecomm ons.org/licenses/by/4.0/.

## References

Badawy A (2016a) $\delta$-ideals in $M S$-algebras. Comput Sci Syst Biol 9(2):028-032
Badawy A (2016) Filters of $p$-algebras with respect to a closure operator. Southeast Asian Bull Math 40:35-47
Badawy A (2017) Characterization of congruence lattices of principal p-algebras. Math Slovaca 67:1-8

Badawy A (2018) Extensions of the Glivenko-type congruences on a Stone lattice. Math Methods Appl Sci 41(15):5719-5732
Badawy A, Atallah M (2015) Boolean filters of principal p-algebras. Int J Math Comput 26(1):15-25
Badawy A, Atallah M (2019) $M S$-intervals of an $M S$-algebra. Hacettepe J Math Stat 48(5):1479-1487
Badawy A, Helmy A (2023) Permutabitity of principal $M S$-algebras. AIMS Math 8(9):19857-19875
Badawy A, Sambasiva Rao M (2014) $\sigma$-ideals of distributive $p$ algebras. Chamchuri J Math 6:31-46
Badawy A, Shum KP (2014) Congruences and Boolean filters of quasimodular $p$-algebras. Discuss Math Gen Algebra Appl 34 (1):109123
Badawy A, Shum KP (2017) Congruence pairs of principal $p$-algebras. Math Slovaca 67(1):1-8
Balbes R, Horn A (1970) Stone lattices. Duke Math J 37:537-545
Birkhoff G (1948) Lattice theory. Colloquium Publications, American Mathematical Society, New York, p 25
Blyth TS (2005) Lattice and ordered algebraic structures. Springer, London
Davey PA, Priestley HA (2002) Introduction to lattices and order. Cambridge University Press, Cambridge
Frink O (1962) Pseudo-complements in semi-lattices. Duke Math J 29:505-514
Grätzer G (1971) Lattice theory, first concepts and distributive lattices, lecture notes. Freman, San Fracisco
Haviar H (1995) Construction and affine completeness of principal $p$ algebras. Tatra Mt Math Publ 5:217-228
Katriňák T, Mederly P (1974) Construction of modular p-algebras. Algebra Universalis 4:301-315
Sambasiva Rao M (2012) $\delta$-ideals in pseudo-complemented distributive lattices. Arch Math 48:97-105
Sambasiva Rao M, Badawy A (2014) Filters of lattices with respect to a congruence. Discuss Math Gen Algebra Appl 34:213-219
Sambasiva Rao M, Badawy A (2017) Normal ideals of pseudocplemented distributive lattices. Chamchuri J Math 9:61-73

Publisher's Note Springer Nature remains neutral with regard to jurisdictional claims in published maps and institutional affiliations.


[^0]:    Essam Abd El-Baset
    esam.abdelbaset5@sci.svu.edu.eg
    Abd El-Mohsen Badawy
    abdel-mohsen.mohamed@science.tanta.edu.eg
    Kamal El-Saady
    Kehassan@sci.svu.edu.eg
    1 Department of Mathematics, Faculty of Science, Tanta University, Tanta, Egypt
    2 Department of Mathematics, Faculty of Science, South Valley University, Qena, Egypt

